
100 Questions

Que. 1 Read the passage and answer the following questions.
Swami Vivekananda is one of the greatest monks of India and the founder of Ramakrishna Mission. He

is considered an important figure in introducing Yoga and Vedanta in America and Europe and in bringing
Hinduism to the status of a world religion towards the end of the 19th Century.
Vivekananda was born as Narendranath Dutta to Visvanath Dutta and Bhubaneshwari Devi on 12 January 1863
in Kolkata. He completed his primary education from Sri Eswar Chandra Vidya Sagar. He completed his
secondary education of three years in just one year and graduated with distinction. He joined college at the age of
16 years and studied philosophy and logic. In 1880 Vivekananda joined the Arts faculty of Presidency College
and studied English, Mathematics, History, Psychology, Philosophy and Logic for his graduation. He had a good
voice and had a keen interest in music and drawing. He was bold and good looking as well. His mastery over the
English language helped him to be an eloquent orator.

Since childhood, Vivekananda was inclined towards spiritualism. He went to Dakshineswar Kali temple to meet
Sri Ramakrishna Paramhansa to find out whether God really existed or not. Once, Naren, as he was popularly
known, sang some devotional songs at the request of Sri Ramakrishna. The saint, on hearing his songs, went into
trance where he was able to meet god. Vivekananda was greatly inspired by Sri Ramakrishna and became his
follower. After the demise of his father, Vivekananda took up a teacher's job to support his family. Sri
Ramakrishna continued to be in touch with Vivekananda and endowed him with all his spiritual powers and
made him his successor. Vivekananda became a 'Sanyasi' (monk) and took up the name 'Swami Vivekananda'.

With the financial help from Maharaja of Khetri he attended the World Parliament of Religions in 1893 in
Chicago to make the West realise the greatness of Hindu religion. He began his address with the words "My dear
Sisters and Brothers of America". This delighted the audience, as this greeting reflected the spirit of universal
brotherhood. He took several religious tours to America and Europe. It was during this period that Margaret, a
young lady, became his disciple and later came to be known as Sister Nivedita. Swami Vivekananda died while
meditating at the Ramakrishna Math in Belur, on 4 July 1902. He left behind an immortal legacy for the youth
of India.

What does the word 'orator' mean?

Correct Option - 2

a person who goes ahead and discovers or shows others a path or way.1.
a public speaker, especially one who is skilled.2.
a person who urges others to protest or rebel.3.
a person who is among the first to explore or settle a new country or area.4.
a person who deliberately causes trouble between others by spreading rumours or gossip.5.

Que. 2 Vivekananda founded the -

Vedanta1.
Ramakrishna Mission2.
Some devotional songs3.
Presidency college4.
Not mentioned in the passage.5.
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Correct Option - 2

Que. 3 Who was Vivekananda inspired by?

Correct Option - 1

Sri Ramakrishna Paramhansa1.
Narendranath Dutta2.
Sri Eswar Chandra Vidya Sagar3.
Naren4.
Maharaja of Khetri5.

Que. 4 What does the word 'inclined' mean?

Correct Option - 1

felt favourably towards someone or something.1.
not having or showing enthusiasm.2.
not connected or concerned with someone or something3.
leaning or turning away from the vertical or horizontal.4.
likely to fail in something5.

Que. 5 What is another word for 'monk' according to the passage?

Correct Option - 2

Sri1.
Sanyasi2.
Naren3.
Swami4.
None of these5.

Que. 6 Which subjects did Vivekananda study for his graduation?
1. Philosophy

2. Psychology
3. Physics

Correct Option - 4

Only 11.
only 22.
only 33.
All except 34.
All of these5.
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Que. 7 What does the word 'immortal' mean?

Correct Option - 3

a god or goddess1.
suffer (something painful or difficult) patiently.2.
living forever; never dying or decaying.3.
a manifestation of a deity or released soul in bodily form on earth4.
easily forgotten, especially through being uninteresting or mediocre.5.

Que. 8 Who gave Vivekananda the financial help in order to go to Chicago?

Correct Option - 3

Sri Eswar Chandra Vidya Sagar1.
Narendranath Dutta2.
Maharaja of Khetri3.
Sri Ramakrishna Paramhansa4.
He helped himself5.

Que. 9 When was Vivekananda born?

Correct Option - 3

19031.
18902.
18633.
18534.
18935.

Que. 10 Directions: In the following passage, some of the words have been left out. Read the passage
carefully, select the most appropriate word for each blank, and mark it as your answer.

Financial inclusion is the effort to make financial services available to all individuals and businesses, regardless
of their ____(A)___. It is important because it can promote economic growth and reduce poverty. To achieve
financial inclusion, governments and financial institutions must provide affordable and accessible
_____(B)____services such as savings accounts, loans, and insurance. In addition, financial education is also
important to ensure that individuals understand how to manage their _____(C)____and make informed financial
decisions. However, there are still many challenges to achieving full financial inclusion, including lack of
______(D)_____infrastructure, cultural barriers, and discrimination. Therefore, it is important for policymakers
and financial institutions to continue working towards increasing financial inclusion, so that everyone has the
opportunity to participate in the _____(E)____system.

Which of the following is the most appropriate word to fill in the blank labeled (A)?

education level1.
credit score2.
income level3.
age4.
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Correct Option - 3

nationality5.

Que. 11 Which of the following is the most appropriate word to fill in the blank labeled (B)?

Correct Option - 4

healthcare1.
legal2.
educational3.
financial4.
transportation5.

Que. 12 Which of the following is the most appropriate word to fill in the blank labeled (D)?

Correct Option - 3

political1.
social2.
technological3.
educational4.
environmental5.

Que. 13 Which of the following is the most appropriate word to fill in the blank labeled (C)?

Correct Option - 4

emotions1.
time2.
relationships3.
money4.
health5.

Que. 14 Which of the following is the most appropriate word to fill in the blank labeled (E)?

Correct Option - 5

healthcare1.
education2.
legal3.
transportation4.
financial5.

Que. 15 Directions. Read the following sentence and determine whether there is any error in it. The error,
if any, will be in one part of the sentence. If the sentence is error-free, select ‘No error’ as your

answer.
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Reading storybooks and watching movies- is/(A) my two favourite hobbies- and these two/(B) hobbies have
helped me prosper more/(C) as an individual and be a better person. (D)

Correct Option - 1

A1.
B2.
C3.
D4.
No error5.

Que. 16 Below a sentence is given which is divided into 4 segments. Identify the segment of the sentence
which contains the grammatical error. If there is no error, mark 'No error' as your answer.

We work hard so (A) that we should please (B) our CEO to promote us to the post of Manager (C) or at least a
raise would be nice for a change (D). 

Correct Option - 4

A1.
C2.
D3.
B4.
No error5.

Que. 17 Read the sentence to find out whether there is any error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
The front-page story was about a young girl /(A) which had hurt herself while saving a puppy in an accident. /(B)
She single-handedly took the initiation and saved the life of that disowned puppy,/(C) took care of all its medical
expenses and even went to see a medical veteran. /(D) No error./(E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 18 Directions: In the following sentence, one part of the sentence has an error and other parts are 
correct. Find out which part has an error and mark it as your answer. If there is no error, mark 

‘No error’ as your answer
In my neighbourhood there lived an old couple; they led the (A)/ simplest kind of lives, and studied and wrote;
(B)/ they grew their own food, (C)/ built their own houses and furnitures.(D)/ No error/

A1.
B2.
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Correct Option - 4

C3.
D4.
No error5.

Que. 19 Directions: In the following question, some parts of the sentence may have an error. The error, if
any, will be in one part of the sentence. Find out which part of the sentence has an error and

select the appropriate option. If a sentence is free from errors, select ‘No error’ as your answer.
A vast number /(A) of people greeted /(B) the politician on her arrival /(C) at the venue. /(D) No Error. /(E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 20 In the following question, a sentence is given with three words marked as (A), (B) and (C). These
words may or may not be placed in their correct order. Four options with different arrangements

of these words have been provided. Mark the option with the correct arrangement as the answer. If no
rearrangement is required, mark option (5) as your answer. 
Molly said she wanted to restaurant (A) the new visit (B) but Mark was against (C) it. 

Correct Option - 4

B-C1.
C-A and B-C2.
C-A and A-B3.
A-B4.
No Rearrangement5.

Que. 21 In the following question, a sentence is given with three words marked as (A), (B) and (C). These
words may or may not be placed in their correct order. Four options with different arrangements

of these words have been provided. Mark the option with the correct arrangement as the answer. If no
rearrangement is required, mark option (5) as your answer. 
Sally wanted to confused (A) in the startup (B) but she was invest (C).

Correct Option - 2

B-A1.
C-A2.
A-C and B-A3.
C-B4.
No Rearrangement5.
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Que. 22 In the following question, a sentence is given with three words marked as (A), (B) and (C). These
words may or may not be placed in their correct order. Four options with different arrangements

of these words have been provided. Mark the option with the correct arrangement as the answer. If no
rearrangement is required, mark option (5) as your answer.
Lightning (A) struck the electric raining (B) as soon as it started pole. (C)

Correct Option - 2

A-B1.
B-C2.
C-A and A-B3.
B-C and C-A4.
No Rearrangement5.

Que. 23 In the following question, a sentence is given with three words marked as (A), (B) and (C). These
words may or may not be placed in their correct order. Four options with different arrangements

of these words have been provided. Mark the option with the correct arrangement as the answer. If no
rearrangement is required, mark option (5) as your answer.
The empty (A) was usually library (B) but the submission (C) brought everyone out. 

Correct Option - 2

A-C1.
B-A2.
A-C and B-C3.
C-B and A-B4.
No Rearrangement5.

Que. 24 In the following question, a sentence is given with three words marked as (A), (B) and (C). These
words may or may not be placed in their correct order. Four options with different arrangements

of these words have been provided. Mark the option with the correct arrangement as the answer. If no
rearrangement is required, mark option (5) as your answer.
The protests (A) were a long speak (B) coming, it was time to time (C) up. 

Correct Option - 3

A-B1.
B-C and C-A2.
B-C3.
C-A and A-B4.
No Rearrangement5.

Que. 25 Directions: Which of the following phrases given below in the options should replace the phrase
that is underlined in the sentence to make it grammatically correct? If the sentence is correct and

does not require any correction mark 'No correction required' as your answer.
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The industry's automated vehicle segment has not rolled out as fast than originally expected as the technology
has proven tough to master.

Correct Option - 4

as fast as original1.
as faster as originally2.
faster than original3.
as fast as originally4.
No correction required5.

Que. 26 Directions: Which of the following phrases given below in the options should replace the phrase
that is underlined in the sentence to make it grammatically correct? If the sentence is correct and

does not require any correction mark 'No correction required' as your answer.
Postpartum depression is an significant form of depression that can begin after childbirth, with symptoms that
vary from person to person.

Correct Option - 2

an significantly form of1.
a significant form of2.
a significantly form of3.
a significant form in4.
No correction required5.

Que. 27 Directions: Which of the following phrases given below in the options should replace the phrase
that is underlined in the sentence to make it grammatically correct? If the sentence is correct and

does not require any correction mark 'No correction required' as your answer.
Prominent Indian-American politician Nikki Haley launched her presidential campaign, becoming the first
Republican to challenging formerly U.S. President Donald Trump in his 2024 bid for the White House.

Correct Option - 3

Republican to challenging former1.
Republican to challenged former2.
Republican to challenge former3.
Republican to challenge formerly4.
No correction required5.

Que. 28 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

REVISED
A. The college has revised its plans because of local objections.
B. The revised proposal will be presented to the board for discussion at Tuesday's meeting.
C. The judge was revised in the newspapers for his opinions on rape.

Only A1.
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Correct Option - 4

Only B2.
Only C3.
Both A and B4.
Both B and C5.

Que. 29 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

LEAD
A. The cut on my arm lead for a long time.
B. Eating too much sugar can lead to all sorts of health problems.
C. They lead a very busy life.

Correct Option - 4

Only A1.
Both A and B2.
Only B3.
Both B and C4.
Only C5.

Que. 30 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

GOAL
A. The center forward headed the ball into the goal.
B. She never hurt a goal.
C. He achieved his goal of becoming the Prime Minister of England.

Correct Option - 4

Only A1.
Both A and B2.
Only B3.
Both A and C4.
Only C5.

Que. 31 What will come in place of the question mark (‘?’) in the following question?
157% of 360 + 66% of 275 = 30% of ?

22101.
23482.
24893.
26204.
None of these5.
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Correct Option - 3

Que. 32 What should come in place of question mark (?) in the following equations?
423 + 142 × 1.56 = ? × 2

Correct Option - 3

495.51.
510.532.
322.263.
534.164.
None of these5.

Que. 33 What should come in place of question mark (?) in the following question?
28% of 450 + 45% of 280 = ?

Correct Option - 5

2231.
2502.
2323.
2604.
2525.

Que. 34 What will come in place of question mark ‘?’ in the following question?

123 × 64 ÷ 432 = ?

Correct Option - 1

51841.
50602.
51483.
50114.
58145.

Que. 35 What should come in the place of question mark ‘?’ in the following question?
16 × 34 ÷ 17 – 5 + 6 = ?

Correct Option - 2

321.
332.
353.
314.
305.
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Que. 36 What will come in the place of the question mark ‘?’ in the following question?
60% of (4/7) of 630 = ?

Correct Option - 1

2161.
2052.
2303.
1904.
1955.

Que. 37 What will come in place of the question mark ‘?’ in the following question?

(7/19) of 1064 = (?)2 × 2

Correct Option - 2

121.
142.
√143.
1964.
None of these5.

Que. 38 What will come in place of the question mark ‘?’ in the following question?
 9672 ÷ 156 – 5 × 3.2 = √(?)

Correct Option - 3

22141.
22162.
21163.
21264.
None of these5.

Que. 39 What will come in the place of the question mark ‘?’ in the following question?

 

Correct Option - 3

5 ( ) + 7 ( ) − 11 ( ) =?
1

9

2

5

3

45

1. 150

45

2. 166

45

3. 13

9

4. 155

45

5. 165

45

www.prepp.in

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Que. 40 What will come in place of question mark ‘?’ in the following question?

 ?2 + √1024 = 561

Correct Option - 2

281.
232.
243.
224.
None of these5.

Que. 41 What will come in the place of the question mark ‘?’ in the following question?

 937 + (9)3 ÷ 27 × (3)4 = ?

Correct Option - 2

33851.
31242.
32763.
33904.
33745.

Que. 42 What will come in place of question mark (?) in following question?
5 + 5 × 5 - 5 + 5 = ?

Correct Option - 1

301.
252.
353.
204.
405.

Que. 43 What will come in place of question mark ‘?’ in the following question?
{(3654 + 1346) × 2} ÷ 100 = ?

Correct Option - 5

0.11.
12.
103.
114.
1005.
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Que. 44 A batsman in his 16th innings makes a score of 60 runs. This increases his average by 3. Find his
average after the 16th innings. 

Correct Option - 5

20 runs1.
18 runs2.
12 runs3.
14 runs4.
15 runs5.

Que. 45 A train running at a speed of 54 km/h crosses a tree in 13 seconds. In how much time will it cross 75 m
long platform?

Correct Option - 4

15 sec1.
16 sec2.
17 sec3.
18 sec4.
19 sec5.

Que. 46 Direction: Following Bar graph show the number of units produced and sold by different companies.

 

What is the difference between the total produced and total sold units by all the companies?

5001.
5602.
550 3.
6004.
6505.
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Correct Option - 2

Que. 47 If company F produces 10% more unit that was produced by company A and sells 20% fewer units that
were sold by Company C. how many units of company F remain unsold?

Correct Option - 2

601.
502.
703.
904.
805.

Que. 48 What is the average unit of all the companies that remain unsold?

Correct Option - 3

1181.
120 2.
1123.
1504.
1305.

Que. 49 Units produced by company C is how much percent more/less than that of the units sold by company
B?

Correct Option - 4

25%1.
20%2.
30%3.
33.33%4.
37.5%5.

Que. 50 What is the ratio of unsold units of Company E and D together to the sold units of company A and B
together?

Correct Option - 1

1 : 21.
2 : 12.
3 : 23.
4 : 34.
5 : 75.

Que. 51
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A boat can travel 35km upstream in 7hours. The speed of the stream is 20kmph. Find the time taken by boat to
travel 20km upstream and 45km downstream.

Correct Option - 5

6 hours1.
3 hours2.
2 hours3.
7 hours4.
5 hours5.

Que. 52 The difference in selling price of an article when sold at 21% profit and 10% loss is Rs. 589 . If it is
sold at 25% profit, then what is the selling price ?

Correct Option - 2

Rs. 23501.
Rs. 23752.
Rs. 22753.
Rs. 23554.
Rs. 20755.

Que. 53 A sum of money becomes 6 times of itself in 7 years at simple interest. In 42 years, amount will
become how many times of principal?

Correct Option - 1

311.
302.
413.
604.
None of these5.

Que. 54 The ratio of the present ages of A and B is 5 : 8 and the ratio of the present ages of C and B are 3 : 2 If
the sum of their present ages is 100 years then, find the present age of A.

Correct Option - 2

25 years1.
20 years2.
30 years3.
32 years4.
None of these5.

Que. 55 A and B invested Rs. 8000 each for 2 years and 3 years respectively. B withdrew 60% of his amount
after one year of investing. Find the ratio of their profits. 
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Correct Option - 5

9 : 101.
8 : 92.
11 : 143.
4 : 74.
10 : 95.

Que. 56 What should come in place of question mark ‘?’ in the following number series?
13860, 6930, ?, 462, 66, 6

Correct Option - 4

22101.
26102.
30063.
23104.
None5.

Que. 57 What should come in place of the question mark ‘?’ in the following number series ?
7, 11, ?, 36, 61, 97

Correct Option - 4

151.
192.
133.
204.
None of these5.

Que. 58 What should come in place of the question mark '?' in the following number series?
900, 890, 870, 830, 750, ?

Correct Option - 5

5801.
7502.
5503.
6004.
5905.

Que. 59 What should come in place of the question mark '?' in the following number series?
171, 173, 170, 175, ?, 179

1691.
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Correct Option - 5

1792.
1723.
1704.
1685.

Que. 60 What should come in place of the question mark '?' in the following number series?
2, 10, ?, 68, 130, 222

Correct Option - 3

151.
452.
303.
404.
165.

Que. 61 Direction: Read the data carefully and answer the question.
Mr. ‘A’ type Different number of Words per Day. He worked for four days. The number of words typed

by him on three different days: Monday, Tuesday, and Wednesday are in the ratio 3 : 4 : 2. Also number of words
typed by Mr. ‘A’ on Sunday is 30% of the total words typed in four days. The no. of words typed by Mr. ‘A’ on
Wednesday is 560.
Find difference between total words type by Mr. ‘A’ on Sunday & Wednesday.

Correct Option - 4

5401.
5302.
5803.
5204.
None of these5.

Que. 62 Find average number of words type by Mr. ‘A’ on Sunday, Wednesday & Tuesday.

Correct Option - 1

9201.
8902.
8803.
9104.
9005.

Que. 63 If ratio between total number of words type by Mr. ‘A’ & Mr. ‘Y’ on Monday is 2 : 3, then find total
words type by Mr. ‘Y’ on Monday?

12201.
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Correct Option - 3

12002.
12603.
12304.
12805.

Que. 64 Find ratio between total words type by Mr. ‘A’ on Sunday to total words typed by Mr. ‘X’ on same day,
if total words typed by Mr. ‘X’ on Sunday is 25% less than total words type by Mr. ‘A’ on Tuesday?

Correct Option - 2

9 : 81.
9 : 72.
1 : 13.
3 : 74.
1 : 35.

Que. 65 If total words typed by Mr. ‘Z’ in four days is 200% more than total words type by Mr. ‘A’ on Monday,
then find total words typed by Mr. ‘Z’ is what percent less than total words type by Mr. ‘A’ ?

Correct Option - 2

35%1.
30%2.
40%3.
20%4.
25%5.

Que. 66 Directions: Read the information carefully and answer the questions that follow.
There are eight people P, Q, R, S, T, U, V, and W who lives in an eight-floor apartment but not

necessarily in the same order. The lowermost floor is numbered 1, the floor immediately above 1 is numbered 2,
and so on. The number of people living between Q and U is the same as the number of people between U and P.
Q lives below U but not immediately. Only one person lives between R and P who lives immediately below T. V
lives on the odd numbered floor but not on the lowermost floor. Only two person lives between R and S. S lives
on the odd-numbered floor below the sixth floor.

Who Lives on fifth floor?

Correct Option - 4

P1.
Q2.
R3.
S4.
T5.
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Que. 67 How many person lives between P and W?

Correct Option - 3

21.
32.
43.
54.
05.

Que. 68 Who lives on the lowermost floor?

Correct Option - 1

W1.
P2.
Q3.
R4.
S5.

Que. 69 If all the persons are arranged alphabetically from bottom to top then how many persons remains on
same floor?

Correct Option - 1

One1.
Two2.
Three3.
Four4.
None5.

Que. 70 Four of the following five are alike in a certain way based on their arrangement find the one which
does not belong to that group?

Correct Option - 4

Q1.
U2.
P3.
T4.
R5.

Que. 71 Directions: In the question below are given two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance from

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
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Some Fire is air
Only a few air is water
Conclusions:
I. Some water can be Fire
II. Some Fire is water

Correct Option - 1

Only I follow1.
Only II follow2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follows5.

Que. 72 Direction: In the question below are given two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Pens are Mobile.
No Mobile is Bag.
Conclusions:
I. Some Mobiles are Bags.
II. All Mobiles are Bags.

Correct Option - 5

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusion I and II follow3.
Either conclusion I or II follows4.
Neither conclusion I nor II follows5.

Que. 73 Direction: In the question below are given two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance from

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only a few Pens are Book.
Some Book is Table.
Conclusions:
I. Some Pens are Book.
II. Some Pens are not Book.

Only conclusion I follows1.
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Correct Option - 3

Only conclusion II follows2.
Both conclusion I and II follow3.
Either conclusion I or II follows4.
Neither conclusion I nor II follows5.

Que. 74 Directions: Study the followingarrangementcarefully and answer the questions given below:
A C B @ K I 9 D L 4 © 5 2 T $ M 4 J # U 3 1 A δ K 5 V W 6 % F Q 7 H P

How many such alphabets are there in the above arrangement each of which are immediately preceded by an
alphabet and followed by a symbols?

Correct Option - 3

None1.
Two2.
One3.
Three4.
More than three5.

Que. 75 How many such numbers are there between first A and V each of which is both immediately preceded
and immediately followed by a consonant?

Correct Option - 3

None1.
One2.
Two3.
Three4.
More than three5.

Que. 76 How many such vowels are there in the above arrangement each of which is immediately followed by
a symbol but not immediately preceded by a number?

Correct Option - 1

None1.
One2.
Two3.
Three4.
More than three5.

Que. 77 Which of the following element is exactly in the middle between the fifteenth from the left end and the
fifteenth from the right end in the above arrangement?

#1.
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Correct Option - 2

J2.
43.
M4.
None of these5.

Que. 78 Which of the following is the fifth to the right of the sixth element from the right end of the above
arrangement?

Correct Option - 1

P1.
Q2.
δ3.
K4.
55.

Que. 79 How many such pairs of letters are there in the word "HIGHEST" each of which has as many letters
between them in the word (both in the forward and backward direction) as they have between them in

the English alphabetical order?

Correct Option - 2

31.
42.
23.
14.
None5.

Que. 80 Direction: Following questions are based on five words given below.
NGX  FHZ  TJU  DOU  WCM

(The new words formed after performing the mentioned operations may or may not necessarily be meaningful
English words)
If the first and last letter of each word is replaced by immediate preceding letter as per alphabetical series, how
many words will have only one vowel after rearrangement?

Correct Option - 5

Three1.
Four2.
One3.
All4.
Two5.

Que. 81 If in each of given words, each of the consonants is replaced by their 2nd preceding letters in the
alphabetical series, how many words thus formed will have two vowel?
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Correct Option - 5

All1.
One2.
Four3.
Three4.
Two5.

Que. 82 If all the alphabets are assigned numbers starting from A till Z (i.e. A = 1, B = 2 and so on), then what
will be the sum of WCM?

Correct Option - 2

261.
392.
173.
444.
565.

Que. 83 If the letter of given words are arranged in alphabetical order from left to right within the words then
which of the following words will remain unchanged?

Correct Option - 5

NGX1.
FHZ2.
TJU3.
DOU4.
2 and 45.

Que. 84 . If the first alphabet in each of the words is changed to the next alphabet in the English alphabetical
order, which of the following words will have more than two vowels after rearrangement?

Correct Option - 4

NGX1.
FHZ2.
TJU3.
DOU4.
WCM5.

Que. 85 In the given word ‘BEAUTIFUL’ if the vowels are changed to the next letter and the consonants are
changed to the previous letters as per the alphabetical series, and alphabets are arranged in alphabetical

order from left to right then which letter would be 6th to the right of 2nd letter from the left end?

K1.
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Correct Option - 3

S2.
V3.
F4.
J5.

Que. 86 Find the odd one out from the given options:

Correct Option - 3

BEIN1.
LOSX2.
DGJN3.
HKOT4.
FIMR5.

Que. 87 Direction: Study the following information carefully and answer the question given below.
Eight different people – B, C, D, E, F, G, H and I are sitting on a rectangular table but not necessarily

in the same order. Four of them are sitting on the middle side of the table facing outside and rest of them are
sitting on the corners of the table facing inside. F is sitting second to the right of C who is sitting in the middle on
the smaller side of the table. Two people are sitting between C and the one who is sitting immediate right of H. D
is sitting fifth to the right of H. B is sitting immediate left of G. Neither B nor F is an immediate neighbour of E.

Who among the following is not sitting at the corner of the table?

Correct Option - 4

B1.
D2.
E3.
G4.
I5.

Que. 88 What is the position of E with respect to H?

Correct Option - 3

Immediate right1.
Immediate left2.
Third to the right3.
Second to the left4.
Third to the left5.

Que. 89 How many people are sitting between G and E, when counted from the left of E?

Two1.
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Correct Option - 5

Three2.
Four3.
Five4.
Six5.

Que. 90 Who among the following is facing D?

Correct Option - 1

B1.
E2.
G3.
H4.
I5.

Que. 91 If B exchanges his position with C, then what will be the position of C with respect to F?

Correct Option - 5

Second to the right1.
Third to the left2.
Fourth to the right3.
Second to the left4.
Fifth to the left5.

Que. 92 Direction: In the following question assuming the given statements to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers accordingly.

Statement: 
G ≥ S = F > J > U < W
Conclusions:
I. J < G
II. S > W

Correct Option - 1

Only conclusion I follows1.
Only conclusion II follows2.
Both conclusions I and II follow3.
Either conclusion I or II follows4.
None follows5.

Que. 93 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among given some conclusion is/are definitely true and then give your answers

accordingly:
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Statement: U > T; X < U = Y; Y ≤ Q < R
Conclusions:
I) U > R
II) T < Q

Correct Option - 2

Only Conclusion I follows1.
Only Conclusion II follows2.
Both I and II follow3.

Either I or II follows4.
Neither I nor II follows5.

Que. 94 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: L = M > O > P; Q < M; N < P
Conclusions:
I. Q < L
II. N < O

Correct Option - 5

Only conclusion I is True1.
Only conclusion II is True2.
Either conclusion I or II is True3.
Neither Conclusion I nor II is True4.
Both Conclusion I and II is True5.

Que. 95 Direction: In the following question assuming the given statements to be true, find which conclusion
among the given two conclusion(s) is /are definitely true and then give your answers accordingly.

Statements:
J ≤ Q = K ≥ A ≥ X < F
Conclusions:
I. J < F
II. Q ≥ X

Correct Option - 2

Only conclusion I follow1.
Only conclusion II follow2.
Either conclusion I or II follows3.
Neither conclusion I nor II follows4.
Both conclusion I and II follow5.

Que. 96 Directions: Study the following information carefully and answer the questions given below
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Eight persons have different designations i.e. General Manager (GM), Deputy General Manager (DGM),
Assistant General Manager (AGM), Manager, Assistant Manager, Probationary Officer (PO), Cashier and Clerk
in a company. The order of seniority is the same as given above i.e. GM is the senior-most designation and Clerk
is the junior-most designation.
Only two persons are senior to D. Only three designations are there between A and F. G is senior to C. A is senior
to the Assistant Manager of the company. Number of persons who are senior to E is same as number of persons
who are junior to H. E is senior to D. More than four designations are there between H and B.

Who is manager among all of them?

Correct Option - 3

B1.
H2.
A3.
F4.
None of these5.

Que. 97 Who is just senior to H?

Correct Option - 1

C1.
B2.
A3.
E4.
None of these5.

Que. 98 Which of the following is true?

Correct Option - 1

D - AGM1.
G - Probationary Officer2.
B - cashier3.
G - DGM4.
None of these5.

Que. 99 How many persons are senior to G?

Correct Option - 2

21.
42.
63.
54.
15.
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Que. 100 What is designation of H?

Correct Option - 2

Probationary officer1.
Cashier2.
Manager3.
GM4.
None of these5.
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